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(F) y=secx TRHAT (T8 FO?
[What is the range of the function y = sec x?]
W:y=sec:¢tﬂ§@@ys— Ly=L

() FRAGRE A wRG F#e T} FRA?

|What do you mean by existence of limit of function?]

Bow: 7 M = h]_':" f{x)= 1 T, O x = a [F90e PRI @

h—a+
ey GRITH lim
e h—>a+f( )= lwsh_}a.,.f(\)#h_)a fix) 220 x =
a TTe FITTE A g 712 |

(M) x=a RS f(x) FRHT SRAPIITT G SR FTX |
|[Write the conditions for differentiability of f(x) at x = a.|
TGT : (I TS T W T@FE 8 T AT I @ AU =0
& fre TR WERISTIEry T WhR x = a e f(x) &
SEAIFATAMT I A TW Lf'(a) = RSf'(a) T |

() @ TS y = x* 7 ™F x SCFT TG 23042

[Which is the point where the tangent line of y = x* is parallel to x

I_j- lan;lz’nx!dx 9]

X

®%T : (nsec (fnx)+c.
(B) @PIERAEE s @ 2
[What is the reduction formula of integration?]
TG : T SO G SR YA 41T 2R TR G o7g 91
ZF T4 RSLE @PIGIFAE FTFA I A0 |
(&) T Rre TP e F10o i J30?
[What do you mean by decreasing functiun at a point?|

e ﬂﬁx—aﬁ:ﬁrﬂ\)wmm i ﬂa+n)>ﬂa)>h20

f(a+n)@@ﬁtﬂx=aﬁqc@mz*mﬁammwmml
() TS IR TS T [

[What do you mean by improper Integral?|

W:mﬁﬁ%iﬁmﬁrﬁx)dxwwiﬁaﬁwmnﬁ
d
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@m’:nﬂmy=xz.'.%=2x A 9T 1 9FGS Jrs 20aE fix) [ivem a1 wHms =)
(@) TR ATFIA I
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[What is the intrinsic equation?] Rt
TE : (@ IEEIR Teg I R [ e T sIeR v S e T 3G e T e 30 X 3= %0

B TS RSy (@1 BeA T S ARy FORE @AfST T
SRR 90 |
3-fRemt

8X =5

f(x]=xsin‘}l'i' FRAAGA ©ITA 8 @8 747 37 u3 Eifta omT 79 |

1
[Find domain and range of the function f(x) = x sin X and draw the graph.]

22 TG SAAG I T 8 2w 9 |
[State and prove First Mean Value theorem. ]

3w y = ¢™ sin (bx + ¢) T ©F (MRS @,

Y,=(a*+ b2)5 ™ sin (bx+ c+ntan™ "2)
n a

[If y =™ sin (bx + c) then show that,

n
Y.=(a*+ b’)2 e™ sin (bx +c+ntan” 5

d:
WW:(i)f;;:—];

. X
(i) J- 1 +cos x

r=2 (1 - cos) TS 2G5 5w w2
[Find the perimeter of the cardioide r=2 (1 — cos8).]

9] x = 1 g® x = - 3 fge fmFERe TreEGe wRkieger @
EREAPACCAINTST SCAEA T4 = f(x)=|x — | + [x + 3|,
[Discuss the continuity and differentiability at x =1 and x = - 3 of the
following function f(x)=|x -1 +|x+3|]

bl (@) 22X+ - x - | (& (x-2) 97 *f& g1 ge =411
[Expand 2x° + 7x* — x — 1 in power of (x— 2) ]

(Q) ftan"xdx a7 TSI At AfesT TT 1 TeRE J- tan’ xdx 93
FATFET G |
[Establish a reduction formula of f tan” xdx. Hence integrate J- tan’ xdx

3

1

5| (ﬁ)ﬂﬁﬁ@ﬁ:(i)Jm’h—xdx;

0
T
;s dx
(i) | 2+ cosx)>
0

2 2 2
() x3+y3 =23 ICBIAAC T TEE (TS x-SCFT GWCE T
By OreTd CFaTE [T 9 |
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[Find the area of the surface revolutioning the asteroid x3 + y3 = a3 about
x-axis.]

So | IR Boeimfs 94T @ e 59 |

[State and prove Rolle's theorem.]
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